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1. Cardiopulmonary resuscitation
2. Hypothalamic-pituitary-adrenal axis
3. Refractory period
4. Rapid eye movement sleep
5. Excitation-contraction coupling
6. Brain death
Z.. BAIE #9448 7L (motor neuron) & 4] ¥ 4m 31, BA 4 42 14 38 4 K (neurotransmitter)o 457 $E K » 4o fo]
A& % #4% T (end-plate potential) & i& & F HILM LR E R KL ER - (10 9)
Z. 3% ®AT & (behavior) & B% i (electroencephalogram, EEG) & 3,15 #5 AR 4 il of %, - 74 £2 i8 #3
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1. Which (one) of the following statements is incorrect? (2 points)
A. A synapse is a site where information is transmitted from one cell to another
B. Neurotransmission across chemical synapses is bidirectional
C. The synapse between a motoneuron and a muscle fiber is called the neuromuscular
junction
D. Gap junctions are considered as electrical synapses

2. The left heart and the systematic arteries, capillaries, and veins are collectively called the

systematic circulation. The left ventricle pumps blood to all organs of the body except? (2

points)

A. Brain
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B.
C.
D.

Lungs
Kidney
Liver

3. Which (one) of the following statements is incorrect: (2 points)

A.
B.
C.

D.

Resistance to blood flow is influenced by the vessel dimensions

Resistance to blood flow is influenced by blood viscosity

Blood is made up of both cells and plasma; and red blood cells provide most of the
viscosity of the blood

Blood is made up of both cells and plasma; and plasma provide most of the viscosity of
the blood

4. The nerves system is composed of two divisions: the central nervous system (CNS) and
peripheral nervous system (PNS). The CNS contains which of the following components? (2

points)
A.

B.
C.
D

Brain and spinal cord
Motor nerves
Sensory nerves
Sensory receptors

5. There are two mechanisms that increase conduction velocity along a nerve; the first one is
Myelinating the nerve fiber and the second one is? (2 points)

A,

B.
C.
D

Increase the length of the nerve fiber
Increase the size (diameter) of the nerve fiber
Reduce the length of the nerve fiber

Reduce the size (diameter) of the nerve fiber

6. The volume of air breathed in and out of the lungs is called? (2 points)
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A. Residual volume
B. Inspiratory reserve volume
C. Expiratory reserve volume
D. Tidal volume

7. Please rearrange the following events in a sequence as it would happen during a menstrual cycle:
(2 points)
1. Ovulation
ii.  Luteal or secretory phase
iii.  Follicular or proliferative phase
iv.  Menses
A, i, i, iii, iv
B. ii,iii, I, iv
C. il i, i, iv

D. iv, i, ii, iii

8. Briefly state the differences between the following terms: (10 points)

Isometric muscle contraction vs Isotonic muscle contraction

9. Briefly state the differences between the following terms: (10 points)
Spermatogenesis vs Qogenesis

10. Diagram lised below is a typicall ectrocardiogram (ECG) recording. Please define the
following terms regarding to heart’s electrical coduction. (total 16 points)
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A. P wave (8 points)
B. QRS (or QS) interval (8 points)
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